
S.S. Bracket
P/N 3080050501

WARNING!
Allen Screw
M8x25
P/N 204314
replaces P/N 200319

2x Allen Screws
M8x25
P/N 204314

2x Washers
M8x16
P/N 204314

Allen Screw
M6x20
P/N 203508

2x Washers
Ø6x12
P/N 200291

Flange Nut M6
P/N 200333

brake oil pan

bike's frame

ART. 80050

SUZUKI GSX-8S
(Fitting with ART. 15606U - 15606BU - 15606TU - 15606CU)
(Fitting without passenger R.H. footboard)

KIT ALLUMINIUM BRACKET


	80050
	Vista del disegno1


